/% Math 1301 - Test 2 - Spring 2008 ...
Name: 7\\ IV S Student ID:

g VA VAL A I R
You may use your calculator. No notes, books nor scratch paper is allowed.

1. (11 Bts) Use the graph of the shown here

{0 ans

1a. Fingdl the y-coordinate ( 2,

1b. Fin

er the following questions.
1)
1 the y-coordinate ( — 1, __5_ )

1c¢. Fing the z-coordinate ( 5,2)

1d. Fi
1e. Fin

(0,73 )

the z-coordinate ( 2,
the coordinates of the y-intercept

-1)

1f. Fing the coordinates of the z-intercept

1} Fin|

2. 8pt

i. A lige that has slope — 3.2 and y-intercept 8.

(1.5, 0 )

1 the equation of the line in the graph.

y=:£X+3

: ,(:X/

I%Find the slope of the line in the graph.

) Find an equation of the line for each of the following..

ii. A lihe that has slope 9 and passing through ( — 1, — 3).

-

/?:9(?@ -3
S9X+0

jiii. A line passing through (1, — 3) and parallel to y = 3z — 5.

Y =5 (x+)73

( 1 _G
2 K+5 7=

2

<3548
%

M= Jlxr() =3 o }4:97@)@

st~z o M= X

9 v =
/ J

iv. A ljne passing through (1, — 3) and perpendicular to y = %x — 5.

/5: —2(7("7) 3

Ag = -2 %X+ 23

Y=-2(x-1)=3 61 Y= -2
g J

AR
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* 3. (9 Pts)) For each given equation: (i) solve the equation symbolically (write the values of z that are solutions);
(ii) classify the equation as a conditional equation, a contradiction or an identity.
3. ) xr — 2 =62+ 5

_Lt5

(ii) This equation is a(n) _ CO nYa a(ico[-‘o 1

3b. () P(T—4z) —z =149z

- ~x = 14-9%

(i1) Fhis equation is a(n) O@OQM/% ( l‘lA 111(% L"V—j Se )

3e.() f=5(z—1)

X=

Z -
(ii) This equation is a(n) W W V= {

4. (9 Pth) The table lists data that is exactly linear. Find the equation of the corresponding line and use it to
predict ofher values.

r| —3 —2 —1 0 1
;| —75] —60| —45| —3.0| —1.5
fot

4a. Wrfte a linear equation in slope-intercept formpthe line that passes through the data points in the table.

= 23208 346 3 o BN -7
777 O\C,L>" z T Z ?-—_2

4b. Us¢ your linear equation from part a to predict y when z = — 2.4. y=___ (é,, Q
Pre %i/cting y for this value of z is an example of which of the following? check one of the following.
E interpolation D extrapolation -3/ '> -
;l = (-24)-3
4¢. Usg your linear equation from part a to predict y when = 5.5. y= 5 / Qvg
Preflicting 4 for this value of x is an example of which of the following? check one of the following.
[ :l interpolation B/extrapolation

’9 ’5(515“)“3
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5. (8 Pts) A 500-gallon tank initially contains 90 gallons of fuel oil. A pump is filling the tank at
a rate of ¥ gallons per minute. e -
i

5a. Wrjte a formula for a linear function f that models the number of gallons of fuel oil in the tank after =

midutes. ‘\: CIO
/5] = 4%+ 20 7% = Uy+i0

/Y
5b. Usg the linear function f that you found in part §} to evaluate f(20).

Fed= 420 +90 = 50+90 = /70

S5c. Intgrpret f(20) in the context of this problem.

Wifder 20 mis Yo fank Coaains |70 ﬁ%//olflj

5d. After how many minutes will the tank contain 188 gallons of fuel 0il? .
44490 = 19% x= 2 </1 2245
AX= 168 40
Uy =%

6. (8 Pty) The weight of an object on Earth () is directly proportional to the weight of an object
on Mars [z). Suppose a 25-pound object on Earth weighs 10 pounds on Mars.
6[. Find the constant of proportionality and then write the formula relating y and .

Show Mzrour work.
s

Oab’:K"O

K= 2,23.5
6b. Find the weight of an astronaut on Mars who weighs 140 pounds on Earth.
Show your work.




ts) Each row in the following table contains one representation of a set of
vers. Complete the table by finding the other two representations for each set.

7. (121

real num
. . Interval
the (llll:y Notation

Number Line Representation

—44z<3 E%S)

5 -4 -3 -2 -1 1 2 3 5
05) | LA

—0C, U,
%<0y (=00, 5 4 -3 -2 -1 8 1 2 3 5
. R e
N s, — T T LI L I
?(4/2.3 : [/;?,5}00 5 4 -3 2 -1 8 1 2 3 5

8. (8pt
sets in in

8a. 32-—-2>

8b. —

erval notation. Show your work.

r+3
-2

x4 < Xt3
[ <TX
4 <X

< dz+1<17

—(, & L[/Xé\{g

g < X SR
4
3 < X 4h
e

.(‘7[’)0")

) Solve each of the following inequalities symbolically (by hand); write the solution
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‘ 9. (8 Pts

9a. Solv

9¢. Solv

9d. Soly

10. (9 Bts) Let f(z) = {

ok

[

[

ot

9b. Solfe 11 > 1. ( 3/, oo) \ :})‘

1@ Find the domain of the function f. / -3
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Use the graph to solve the inequalities and write your solutions in interval notation..

\v—axis yi
€Y1 < Yo (” 00) 37 ’”>'I/ ,

(3,-1) x-axis
e 41 > 1. [3,) 00)
eyt < Yo (”OO,; 3;’
A 2

6—-2x ifl<zx<4
5 if —3<ae<l

Pa. Evaluate: f(3) = @,33 :‘@

Ob. Evaluate: f( —2) = ( 5 {

Pc. Evaluate: f(1) = (Q"a o E
pd. Evaluate: f(7) = At An eg‘(

4

rmd

h]
7
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11 (10 Pts) Let f(z) = |3z — 6

11a. Evaluate: f(— 1) = {3(,‘)»(9/( - {——3-—(9{ = I—Cf/ :E
11b. Evaluate: f(0) = Ing —(p l: /"(dl :@
1%c. Evaluate: f(2) = , 3~‘2—(Q/, < IG{ :ZQ,—]

11d. Evaluate: f(4) = (3‘ 4‘”(0,} - /(Ql = (o-

11fe. Which of the following is the graph of f (z) = |3z — 6|? Circle your answer.




